Answer Key NEET - Il (AA,PP,WW)
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*9 - All Candidates awarded 04 Marks

1. 04 Mrks have been awarded for each correct response

2. For each incorrect response, one (01) mark has been deducted.




Answer Key NEET - 1l (BB,QQ,XX)
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*9 - All Candidates awarded 04 Marks

1. 04 Mrks have been awarded for each correct response

2. For each incorrect response, one (01) mark has been deducted.




Answer Key NEET - Il (CC,RR,YY)
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*9 - All Candidates awarded 04 Marks

1. 04 Mrks have been awarded for each correct response

2. For each incorrect response, one (01) mark has been deducted.




Answer Key NEET - Il (DD,SS,Z2)
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*9 - All Candidates awarded 04 Marks

1. 04 Mrks have been awarded for each correct response

2. For each incorrect response, one (01) mark has been deducted.




